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SAMPLE QUESTIONS

Class 10

s Important Instructions: ~

+  This sample paper comprises of 50 questions for each class while the actual paper
will be of 100 questions

* Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

» Every question has 1 correct answer

* There will be no negative marking

* All questions carry equal weightage

*  Duration of actual exam (with 100 questions) will be 2 hours

* In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall

* In the actual exam, additional 10 minutes will be provided for reading the instructions
and filling the OMR sheet
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Section A - Science

1. The power of a lens is 3.5 D. The lens is

a. Convex

b. Plano-convex

c. Concave 4.

d. Plano-concave

UF g fT AT -3.5D B | I UH Ll

&

a. 3cdol b. HAdA-3cde

c. 3ade d. gAde-3aqad | 5
2. Mirror that can be chosen to view a tall

building in a small mirror is
a. Plane mirror

b. Concave mirror

c. Convex mirror

d. Plano-Convex mirror

U&h BT SUUT # U Hadel SART U6 Bie
90T A 991 ARG dua & fov R gdur
a. AT 90T

b. 3add gdur

¢. Feolel g9o7

d. AT - ool g9oT

3. 2ml of acetic acid i1s added to Sml of
water and was shaken up for 1minute, it
was noticed that:

a. The acid formed a separate layer on
the top of water

b. A clear and homogeneous solution is
formed 7.

c. Water formed a separate layer on the
top of the acid

d. A pink and clear solution is formed

2 TAeeliey viafes vias i 5 Aeeiet ger
# s ot 1| Aee oF Reraean
a. TS U= & F9T U 3eieT 9{d ae1ar &

Class 10

b. T e i gaey Ao g9 s
c. UTeiT o TS & Y W U Held WA S5
d. T T R TS Aeas aarg §

Which of the following is the correct
order of size:

s T NFR FT A FH &
a. It >1">1 h. 51 51
e IsTrEsr d.I>=I">1"

- C = 0 represents the functional group:
a. Alcohols

b. Carboxylic acids

c. Ketones

d. Acids

- C = O FcHF FHg # sfafaftca Far g
a. Hohlgel

b. FrdifFstias ofds

c. Sy

d. vflg

Carboxylic acid containing one carbon
atom is

a. Formic acid b. Acetic acid
c. Citric acid d. Vinegar

TS Hldel GAY] JoF FelForian 7S §

a. HIfE® vfde b. vfafes vfas
c. arsfes vfls d. @

The genetic constitution of an organism
15 called its

a. Phenotype

b. Genotype

c. Hereditary material

d. All of these

Teh Sita & TR Hece HI Ig Hel Sl &
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a. AL

b. HTefafIs

c. T AHAT
d. I gsir

The phenotypic ratio of Fy generation of

monohybrid cross is
a.1:3 b. 3 i1
c.]l 4 d. All of these

UHHEHT HE & Fy GIEr & THERTT Heurd
SHIFRE

a.1:3 b. 3:1
d. I gair

Dihybrid cross involves the study of
a. One visible contrasting character
b. Two visible contrasting character
c. Three visible contrasting character
d. All of these

AT E

a. U TITH faudia s7a7or
b. & T TA fAudia seor
c. e TegAT A9 wator
d. 33 & |l

& eaasT A

The defect caused by the weakening of
ciliary muscles is

a. Myopia

b. Hypermetropia

c. Presbyopia

d. Astigmatism

Ao AR & FASR @t B aoE &

LA
a. fae e gy
b. g

c. SRIEIEee
d. Tiecawsy

Class 10

11.

12.

13.

Section B - Mathematics

If — 4 is a root of the equation x2 + px — 4

= () and the equation X2+ px+ q=0 has
equal roots, find the value of p and q.

e - 4 AT X2 + px -4 =0 FHA ©
HR FHRIOT X2 + px + q = 0 F AT T 8,
p 3R q % A & gar o9

a.p=3,q9=9

b. p=9,g=3

c. p=3,g=4/9

d.p=3,g=4/9

A point P is 26 cm away from the centre
of a circle and the length of the tanget
drawn from P to the circle is 24 cm. Find
the radius of the circle

U foig P U gedd & g W26 em G & AR P
¥ god W A ¢ FoRR@r f1 dars 24
HEAR 1 godd F Foar aard

O

a.11 cm b. 10 cm
c. 16 cm d. 15cm
In figure below, ABCD is a cyclic

quadrilateral in which AC and BD are its
diagonals. If ZDBC= 55° and ZBAC =
45°, find ZBCD.

dr Bu av aiewst #, ABCD UF T
gais ¥ e AC 3R BD swdr st §)
3R /DBC AR ZBAC = 45°, ZBCD &

gram
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Uv
a. 80°
b. 60°
c. 90°
d. none of these

ABCD is a cyclic quadrilateral whose
diagonals intersect at a point E. If #DBC
=70°, ZBAC is 30°, find £ZBCD.

ABCD T& TR Tq3s ¢ foraenT fasol o

g E w e € | 3l ~DBC = 70°, Z/BAC

= 30°, ZBCD &1 g
a. 80°
c. 90° d.

b. 60°
100°

The sum of the first four terms of an AP
1s 28 and sum of the first eight terms of
the same AP is 88. Sum of first 16 terms
of the AP 1s

gHET AU & gger 9 FEr & AT 28 #
3T 39T A0l & gger 306 30 FT AT 88 B

Aufl & ggel 16 Al FHI AT §
a. 346 b, 340
c. 304 d. 268

The 4th term of an AP is 14 and its 12th
term i1s 70. What is its first term?

TATEY A0l &1 giar 3F 14 § 3R 33 12

ar 3 70 &1 SHET Ugal 3 &7 &7
a.-10 b. =7
c. 7 d. 10

Find the value of n for which quadratic
equation n (q-2) q + 6 = 0 will have
equal roots

n @ 3¢ A FEfad 5w o gaada

Class 10

18.

19.

20.

FHHIOT n (q-2) q + 6 = 0 & Hl FA &l
A b. 4
c. 6 d. 3

What 1s the angle of elevation of the
sun when the length of the shadow of a
vertical pole is equal to its height?

a. 307

b. 60°

c. 457

d. none of these

STe U FEaTtl T T ST IHHT =S F
are il & A g W/ 3esTdel HI0T FAT v
2

a. 30°
b. 60°
c. 43

d. §TH § IS 6

A tower subtends an angle of 30° at a
point on the same level as its foot. At a
second point ‘h’ metres above the first,
the depression of the foot of the tower is
60°. The height of the tower is

TS Al 3EF Od & §AE TR W BT
s g W 30 Bl # v FOT T B
ggel fig ¥ ' e FWew g W &
T FT HITHA FIOT 60° § TET fr FAOE
gt

a. 6 mitr
b. 12 mtr
c. 10 mtr

d. None of the above (390Fd # A &1 18N

A steel wire when bent in the form of a
square, encloses an area of 121 sq. em.
The same wire is bent in the form of a
circle. Find the area of the circle.

U Fel H AR & Az Wad  aff &
&fahel 121 97 e g1 T& d” T Jed &
Y H GH T &, Jod 1 &6 ac1C
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a.111 cm? b. 84 cm? SET F, UF FeET MU &1 I (a), (b), (o),
c. 154cm2 d. 259 cm?

Section C - Logical Reasoning

Question (21-23): In the Number series
given below, one Number is missing.
Each series is followed by four
alternative answers (a), (b), (c], (d). One
of them is the right answer. Identify and
indicate it as per the “instructions”.

AT &Y 98 HET AWl H, U AaY 44 ¢
Yede 4Tl & a1 g dhiedss 3eal 9K (a),
(b), (c), (d) &1 3T | U= HET SIaT9 & gdlel
AR 58 e & Iar Fan

21. 85, 66, 187, 200, 369, 386
a. bv75
b. 575
c. 475
d. None of these f%ﬂﬁ'ﬁﬂ‘ﬂéﬂﬁ

22. 20, 141, 310, 599, 960, 1489
a. 2430 b, 2330
c. 2230 d. 2130

23. 1900, 939 377, 376
a. 396 b. 698
c. 498 d. 598
Questions (24-25) arc based on letter
analogy. There are two pairs of letter
combinations in each Question. The first
(left-side) pair has some relationship
betweenn its members. In the second
pair, one member is missing. Find this
cut from answers (a), (b), (¢}, (d). such
that this pair has similar relationship as
the first pair. Indicate your answer as
per the instruction.
99T EHETIAT 9T HERE & uede wiA H
HeW TSI & 2 A2 & 98 (@7 3R) ey
& U Hewdl ¥ &9 IO wFy ¥ gEd

Class 10

24.

25.

26.

27.

28,

(d) gErdr ShEr & Heaw e & AR aard|

BARODA : CBSPEB :: CPNCBZ
a. MADRAS

b. BOMBAY

c. BANGURU

d. BANGLA

CARPET: TCEAFR :: LNAATOI
a. NATIONPL

b. NATIONAL

c. NATIOLNL

d. None of These

Questions (26-28); Read the following
information carefully and -answer the
Questions given-below

frrafaf@a sTeeir F1 tamgEs 96 HR-Rw
T gAY & IS |

MONKEY is coded as XDJMNL, then
code of TIGER is

3 MONKEY 3[ce #TsT # XDJMNL g, ar

TIGER 41 §7
a. QDFHS b. SDFHS
c. SHFDS d. OJFHS

Code of APPLE i1s 50, then the code of
ORANGE is
39X APPLE [cdf 39T 7 50 §, @ ORANGE

Far 87
a. 60 b. 70
c. 80 d. 50
] 1 15
3 b by 3 9
a. 235 b. 141
c. 144 d. 188
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With the help of given diagram, answer
the following Question making the right
choice from the given alternatives.
Indicate the answer as per instructions.

U T 3@ & Ty, U a0 Aeeal ¥ Har
g1d #A & v Prafaf@d g &1 seal
& 9 & ¥ A Iea] Farv

o8 -"%

a. Rectangle represents Males

b. Triangle represents Educated
c. Circle represents Urban

d. Square represent Civil servants.

few av 3@ #r Aee ¥, Bw 7w Ppedt &
FE 9 FA & fov Feaar@d e &
3oeR &; IERT & IR ook qare

a. 30d, 7 1 gfafAflca FEr g

b. Preger, Rfgra & gfafaite awar g

c. ANATHR, A F ARt Fa &

d. "o, fafae dast &1 aRFRa &= g

Who among the following is only a civil
servant but neither a male nor urban
oriented and uneducated?

feafaf@a # & Faa ve [Afad @9+ ¢,
et o Y U G a7 e 37 T s

fc

b, 8
d. 14

o B

7
.9

Equations have become wrong due to
wrong order of signs. Choose the correct
order of signs from the four alternatives
given under each Question, so that the
equation becomes right.

Hhdl & T FH & FUT FHEHIOT ITod ar

Class 10

31.

32.

T § YA U & dgd fav AT IR fasedt &

Tehdl T Hel shl Tei, 1Mo THRIOT FeT &l
12+3=4x11

a, ++= b, ®*—=

C. +—= d. x=—

Section D - English

Read the following passage. (Q. 31-
35)

A businessman recently had the most
unhucky day’s fishing. He was standing
on a low bridge when he had the
misfortune to knock his tin of bait into
the river. Leaning over the side of the
bridge, he tried to hook the tin and pull
it out of the river. As he did so, his car
keys fell out of his pocket and
disappeared in the water.

Feeling thoroughly annoyed with himself
and his luck, the businessman lent over
the bridge to try to see where his keys
had gone. As he did so, the bridge
collapsed and he fell into the river. This
was the last straw. The businessman
crawled out of the river went back to his
car. There he discovered that he had
locked the doors and could not get in.
His anti-thief lock had immobilized his
car. There was nothing left for him to do
but walk sadly home.

Answer the questions given below.

How did the tin of bait get into the river?

a. The passage does not say.

b. It fell in when the bridge broke.

¢. It fell in when the businessman fell in.

d. The businessman knocked it in
accidentally.

When did the businessman first lean
over the bridge?

a. When it broke

b. When the bait fell in.

¢. When his keys fell in.

d. When he could not get into his car.

Page 5
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What was the last straw, according to
the passage?

a. Having to walk home.

b. Being unable to get into his car.

c. The collapse of the bridge.

d. The loss of his bait.

What does ‘immobilized’ mean in the
passage?

a. destroved.

b. improved the appearance of

c. vaccinated

d. made it impossible to move.

There was nothing left for him. This
sentence shows that

a. Everything was stolen.

b. There was nothing on his left side

c. There was no other alternative.

d. He left nothing behind.

The following sentences come from a
paragraph. The first and the last
sentences are given. Choose the order in
which the three sentences (PQR) should
appear to complete the paragraph.

S1 — Science improves our living
conditions, but 82 —

S3 —

54—

85 — rejecting or accepting anything,

provided there are sufficient reasons
for doing so.

(P} not be afraid of

(J) teach us to think straight

(R)it should also

Choose from the options given below

a. RQP b. PQR

c. RPOQ d. QRP

For the following group of four words,
find the incorrectly spelt word

a. exceeding b. succeeding
c. proceeding d. preceeding

Choose the one which best expresses
the meaning of the given phrase. alln:

Class 10

39.

40.

41.

42,

a. worry
b. please

c. irritate
d. pay a brief visit

Select the word which means same as
that of the given word.

CHASTE:

a. pure b. loyal

c. timid d. curt

Select the word which means the
opposite of the given word.

ACQUITTED:

a. entrusted b. convicted

c. burdened d. freed

Section E - General Knowledge

A 12 year old girl is being forced to
work as domestic help. Which of her
rights are being exploited?

a. Right to equality

b. Right against Exploitation

c. Cultural and Educational Right

d. Right to constitutional Remedy

Teh 12 YT SI5ehT 3l Bl Tl & &9 H HH
A & T ATy fovar o W@ gl 3EF Hla |
FOSR F7 MOTEY W

a. FHTAAT &l HTEFHR

b. 2MSOT & T&eH HfAFR

c. HrEpTcs AR ATETH AHEwR

d. gauTiae 39Ty 1 HiOHR

Who was the Governor General of India
between 1809 - 19057

a. Lord Lansdowne

b. Lord Curzon

c. Lord Minto

d. Mountbatten

1899-1905 F & 9T & T TeI{ol it 27

a. ds ol=asI3a b. ¥ITS &otel
c. s fA@er d. A3caeT
Page 6
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43. In which department of United Nations
does UNDP lie?
a. General Assembly
b. International Court of justice
c. Trusteeship Council
d. Secretanat
UNDP W I5g & foh fasmr &2
a. HglHHAT
b. T & AT ST
c. TR F3 A
d. gRErea
44. Who divided the Indian History into
three periods?
a. McCaulay b. James Mill
c. Curzon d. Dalhousie
e A giderd & de yafaar 7
feremiore femam
a. Hereor b. 3G Aa
c. Fotel d. seetdr
45. Yamini Krishnamurthy is an expert in
a. Kathak
b. Bharatnatyam
c. Manipuri
d. Odissi
a. hHFh b. HITATCTH
c. Ao d. e
46. How many scheduled languages are
Class 10

47.

48,

49,

50.

there in India?

HR # el 3eTgiRd s

a. 11 b. 13

c. 20 d. 22
The brightest asteroid is

a. Ceres b. Vesta
c. Pallas d. Hygiea
LEREE RO

a. WH b. aET

c. IoH d. gTS=r

Which planet has maximum number of
moons?

a. Saturn b. Earth

¢. Jupiter d. Neptune
e g HfOeaw §&ar 7 IgATT &7
a. ufa b. gt

c. EEatd d. aoT

When was Harappa discovered?

§XOAT HERTT I E‘:srﬁg ofr

a, 1923 b. 1930

c. 1986 d. 1857
Where 1s Hoover Dam?

a. Naveda- Arizona b. Canada

c. California d. New York
ga ST e &7

a. Ad1El - TRSAEAT b. ShaATST

c. HTAPIAT d. ¥ ai%
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